In [1]:

fl(x)=2*x"2+3*x-4
show(£fl)

Out[1l]:
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In [2]:

show(integrate(fl(x),x))

#

# * Kk k ok ok ok WARNING AAA Ak kA A A A

# CoCalc symbolic integration does not give the constant C

out[2]:
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In [3]:

£f2(x)=2*x"3+1/x"2
show(£2)

Oout[3]:
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In [4]:

show(integrate(£f2(x),x))

#

# * & Kk ok ok ok WARNING A A A A A A A

# CoCalc symbolic integration does not give the constant C

Out[4]:
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In [5]:

£3(x)=3*x+2/x%
show(£3)

Out[5]:
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In [6]:

show(integrate(£f3(x),x))

#

# * Kk Kk ok kA WARNING AAA A A A A A A

# CoCalc integrate f'(x)/f(x) gives ln(f(x)) instead of Iln(abs(f(x)))

Out([6]:

% x> + 2 log(x)

In [0]:



